Week 5 Answers
Monday – Worksheet – 
1) 72° because 360° divided by 5 is 72.  
2)Amir is wrong because angle g is not opposite. Angles e and g are the same.  e = 60°, f = 120° & g = 60°.  
3)360° - (50° + 50° + 90° = 190°) = 170°  
4)Whitney is wrong because a is on a straight line. a = 23°, therefore c = 23°, therefore b = 180° - (23° + 90°) = 67°   
5)The obtuse angle is the angle that is furthest south.
6) (360° - 81°) ÷ 3 = 93° Your diagram should have 3 angles all equalling 93° and one angle of 81°. All will equal 360°.
Tuesday – Worksheet – 
1) Amir is wrong. All the internal angles of a triangle add up to 180°, so you can’t have two angles that equal 90°.
2) 180° - (38° + 38°) = 104°. a = 104°
3) All the angles in an equilateral triangle equal. They all equal 60°.
4) False, look at question 3. A equilateral triangle has 3 angles all acute.
5) The three angles are - 56°, 31° & 93°
6) 
	Type of Triangle
	Angle 1
	Angle 2
	Angle 3

	Isosceles
	90
	45
	45

	Right-angled
	80
	90
	10

	Isosceles
	70
	55
	55

	Isosceles
	70
	70
	40






[image: ]Wednesday – Worksheet –  
1)  

                             
2)  Jack is wrong. You should’ve drawn a kite and a parallelogram.
3) You should have identified a parallelogram and a rhombus have opposite angles that are equal. That a kite has a pair of equal angles and a right angle. On a larger 4x4 grid a trapezium can be drawn, without a right angle.
4) Tick, cross, cross, tick.
5) You should notice that the internal angles triangles all equal 180°, therefore two triangles together equal a total of 360°. Quadrilateral’s internal angles will always total 360°

Thursday – Worksheet – 
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[image: ]2) Dora is wrong because she will be missing one side to her cube.
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[image: ][image: ][image: ]4) Here are examples, yours should look similar to these.



[bookmark: _GoBack]5) B & C both make the open box.
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